MIAM I-DADE' MIAMI-DADE COUNTY, FLORIDA
e METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Kane Manufacturing Corporation
9 Wetmore Avenue
Kane, PA 16735

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.785” Galvanized Perforated Steel Hurricane Barrier

APPROVAL DOCUMENT: Drawing No. 02-839R1, titled “Aluminum Van Guard II Hurricane Barrier”, sheets
1 through 5, prepared by EngCo, Inc., dated 8/12/02, signed and sealed by Pedro De Figueiredo, P.E., bearing the
Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 02-0501.07

Expiration Date: September 12, 2007
Approval Date: September 12, 2002
Page 1




GENERAL NOTES:

{- DEFINITION: THIS PRODUCT IS A HURRICANE SHUTTER, TESTED AND DESIGNED TO
PROTECT A GLAZING OPENING, PROVIDING PROTECTION FROM LARGE MISSILE FLYING
DEBRIS WITH THE ALLOWABLE DESIGNED PRESSURES AND SIZES STATED IN THIS
APPROVAL.

2- CODE: THIS PRODUCT HAS BEEN TESTED AND DESIGNED IN ACCORDANCE WITH THE
FLORIDA BUILDING CODE 2001 EDITION, CINCLUDING HIGH VELOCITY ZONESS.

3- POSTING' A PERMANENT LEGIBLE DECAL SHALL BE PLACED AT A VISIBLE LOCATION
STATING THE FOLLOWING:

* ALUMINUM VANGUARD II HURRICANE BARRIER

KANE SCREENS - KANE - PENNSYLVANIA

DADE COUNTY PRODUCT CONTROL APPROVED®

4~ LOADS: DESIGNED PRESSURE CALCULATIONS SHALL BE PERFORMED BY A PROFESSIONAL
ARCHITECT OR ENGINEER IN ACCORDANCE WITH ASCE 7-98.

S— MATERIAL: ALL ALUMINUM COMPONENTS SHALL BE EXTRUDED SHAPES 6063-T6 OR AS
NOTED.

6- FASTENERS: ASSEMBLY SCREWS AND ANCHORS SHALL BE AS SPECIFIED BY THE
CURRENT SET OF DRAWINGS. INSTALLATION AND LOADS AS PER THIS APPROVAL.

7- DISCLAIMER: ENGCO INC. HAS NO CONTROL IN THE MANUFACTURING AND/OR
PERFORMANCE OF THIS PRODUCT., THESE GENERIC PLANS WERE ENGINEERED IN
ACCORDANCE WITH ACCEPTED ENGINEERING PRACTICES AND TEST DATA PROVIDED BY THE
MANUF ACTURER,

8- INFORMATION SHOWN ON THIS DRAWINGS IS PROPRIETAY AND THE SOLE PROPERTY OF
KANE SCREENS, AND IS NOT TO BE REPRODUCED, DISCLOSED OR TRANSMITTED TO OTHERS
FOR ANY PURPOSE NOT AUTHORIZED BY KANE SCREENS.

DESIGNED PRESSURES:
Pd= +83 —-83 PSF

NOTES:

1- PRODUCT CAN BE INSTALLED ROTATED.
2- 14GA PERFORATED PLATE - 51 ZPOROSITY

50 1/2" MAX.
PERIMETER FRAMING
48" MAX.
MAIN FRAMING
\\ 1 1
\ O
CEEE 1| N
N o &
: b
AN -
. <§E 0|_
@ 2
;FE?" ?Zé zg =§
N
/ T >
/ 15 | e
o -
Y, &)
VRO i
as complying with the

Florida Cod
gaing {J
Date 05" 02
NOA# N 2.0501.07
DMlilnl%mwcmﬂ
\j

Manufacturer:

Kane
Screens

515 N. FRALEY STREET
KANE, PA 16735

Tel.: (B14) 837-6464
Fax.: (814) 837-6230

Product:
Aluminum
Van Guard II
Hurricane
Barrier

Englineering: _
Eng@o Inur.

CA B116

6971 W. Sunrise Bivd. 104
Plantation, Fl. 33313

Tel.: (954) 585-0304

AUG 1 9 2002

Engineer Seal
Pedro De Figueiredo
PE 52609

Date: 08/12/02
Scale: NA
Design by: PPMF

Revision:

Drawing Number

02—-839R1

Sheet
1 of 5




—  FINISHED HEIGHT OR WIDTH———

)J

SURFACE MOUNT

HARDWARE LAYOUT

LASS TC BE

CONCEALED 13GA SS

HINGES WITH 1/4”
DIAM. SS PIN

WITH ACTUATING BALL BEARING
AND 1/2" DIAM. STEEL BOLT

[ ANCHOR 2
B, C ANCHOR
ANCHO TYPE A, B, C
TYPE A, B, C
> MASONRY [z MASONRY
2 DGE DIST Q L EDGE DIST.
S 2 7/8 < 2 7/8"
WALL < <
_{~ DRESSING T Ll R
n
| <
N o E e 0
™, _ /D I
l
A
\ N
\M 5 EQUALLY SPACED @
ID POINT KANE 107 BITT KEY LOCK

Manufacturer:

Kane
Screens

515 N. FRALEY STREET
KANE, PA 16735

Tel.: (B14) B37-6464
Fax.: (814) B37-6230

Product:
Aluminum
Van Guard II
Hurricane
Barrier

ONE CENTER LOCK
to activate 5 points

—54"

i
==

—54"

e mmse—

N

N

|
AN

=
/

/

PROTECT :
GLASSZ 535%\5”'0“ ED LOCATED AT 24"0C
ANCHOR LAYOUT ANCHORS:
TYPE DESCRIPTICON
A #14 WOOD SCREWS W/ #10-14 SCRU-LEAD W/ 1 1/2° EMBEDMENT INTO 2000 PSI CONCRETE
7 1/4" 7 1/4" B #14 WOOD SCREWS W/ #10-14 SCRU-LEAD W/ 1" EMBEDMENT INTO C90-HOLLOW BLOCK
| : C #12 wOOD SCREWS W/ 1 1/2° MIN. EMBEDMENT INTO WOOD (sg>=. 59
) s
o | >
0% Y |
» =¢
§ —_ PERIMETER ANCHORS SPACING: >~
TYPE | INSTALLATION [SPACINGCS) a
- A SUREACE MOUNT | 12 0OC S
! & — B | SURFACE MOUNT | _ 6 0OC ¥
| & C SURFACE MOUNT | 12 OC <
= & B
N X
-
N :<) f)_____
3 4
LlJ -
3 <
< 2] I ~
~N 6 -
d = 2
e %
T Date O umr
. NOAS (72.-D20
O— N 1 Mismi Dads Product Costrol
© >
By
N~

Englineering: _
EngCo dur.

CA B116
6971 W. Sunrise Bivd. 104
Plantation, Fl. 33313

Tel.: (954) 585—0304

AUG 19 2002

Enginesr Seal
Pedro De Figueiredo
PE 52609

Date: 08/12/02
Scale: NA
Design by: PPMF

Revision:

Drawing Number

02—-839R1
Sheet
2 of 5




Manufacturer:

ANCHOR P REVEAL MOUNT Kane
CONCRETE . B, N Screens
_EDGE DIST-
2 7/8 @ 515 N. FRALEY STREET
WALL KANE, PA 16735
DRESSING ™. AX. 1/47 Tel.: (B14) B37-6464
) ' . (814) 837-6230
. /@AP z Fax.: (814)
N =
= / N 7 §=no
: : ANCHPR .
% / TYPE A, B/ C - L1
< - wn
> K / a 0 o~
A g A Product:
B\ . D c — Aluminum
s : miih | M > Van Guard II
5 Eos L Hurricane
—_— D -
e S "*T ke 7 Barrier
Ll Z0 | *
2 2 og P
o2 e 0.25 @ @
% b \ MAX.
= pd |
' < \-GLASS TO BE Engineering:
MID POINT KANE 107 BITT KEY LOCK 5 EQUALLY SPACED ~
PROTECTED WITH ACTUATING BALL BEARING CONCEALED 13GA SS Eng Co dnr.
AND 1/2" DIAM. STEEL BOLT HINGES WITH 1/4" CA B116
GLASS SEPARATION LOCATED AT 24”0C DIAM. SS PIN 1 W, Sunriss Bivd. 104
3/8" ) :
2.3/ ANCHOR LAYOUT Plantatlon, Fl. 33313
» » ANCHORS: Tel.: (954) 585-0304
HARDWARE LAYOUT 7/ s T TYPE DESCRIPT LN =0
{ A #14 WOOD SCREWS W/ #10-14 SCRU-LEAD W/ 1 1/2° EMBEDMENT INTO 2000 PS1 CONCRETE
:q- | | l l l B ¥14 WOOD SCREWS W/ #10-14 SCRU-LEAD W/ 17 EMBEDMENT INTO CSO-HOLLOW BLOCK
| _ ) ~ C #12 woOD SCREWS W/ 1 1/2° MIN EMBEDMENT INTO wWOOD (&M 55
o IR il ~ N —
) ) N\ E PERIMETER_ANCHORS SPACING: \ @)
"+ \ ‘ o — TYPE | INSTALLATION [SPACING () =
Y N \ - A__ | REVEAL MOUNT 6 0OC J
2 B | REVEAL _MOUNT 3 0C -
+ ___ GLASS 19 2002
2 W0 ____)HJ \ 0— & C | REVEAL MOUNT| 12 OC 0 SEPARATION— AUG 1 9
0. 2 — 2 3/8" Engineer Seal
S0 . Joa u \ L x Pedro De Figueirsdo
Ja + ’ 0 * SCRIBE ANGLE NOTES: < PE 52609
R Te N N X N 1~ SCRIBE ANGLE ARE USED ONLY AT HEADER AND JAMBS.
o | \ 2~ 1/4-20-3/4" ss RHMS ARE TO BE USED WITH MAX, .
= oo g 't ') — U | 12* DC SPACING AS SHOWN BELOW. Date: 08/12/02
52 3 _____ 3- MAXIMUM GAP BETWEEN MAIN FRAMING AND SCRIBE Scalie: NA
SEE 0 B |- :
-+ ﬁ' Y] ~
WS o 2 — RILL AND TAP ~ Revision:
z i z / | JAMBS AND HEADER o
2 }:-) — ol
3 L > Approved as complying with the .
N / ] / — | /4-20-3/4" 5 RHMS < | oia Baag ose Drawing Number
‘. I 3" FROM ENDS AND 12" OC T NOKS 02—839R1
4 N "_ Missi Dads Product Control
'.LD = —
~ Dy.
| | [ TTTTT i Sheet
|

3 of 5




REAR SHUTTER ELEVATION REAR SHUTTER ELEVATIDN
TYPICAL PERFORATED SCREEN TYPICAL MAIN FRAME COVER
ASSEMBLY SCREWS LAY-0OUT ASSEMBLY SCREWS LAY-0OUT

#8%1/2" Square Head #8X1” Phillip Round Head

| Tek Screv!’s — | . Sheet Metal Screws
I Spaced at 3" OC I Spaced at 10 1/4" OC
| R . T ool
- @
B | 2 s -
o o] o [/ 3 0%0 00
[e]> — ;—rr)
o o o Qo
3 b —
o (2
9990000p I nn o i o
o/ Q o - x'g
Soopo0e 2
o LS00 & o Qﬁ 8 of 8
o 000 ole] A ;—< (% 1 ° _:
o © B¢ o)
* e

#8X1/2" Square Head #8X1” Phillip Round Head

Manufacturer:

Kane
Screens

515 N. FRALEY STREET
KANE, PA 16735

Tel.: (B14) 837-6464
Fax.: (814) 837-6230

Sheet Metal Screws
Spaced at 10 1/4" 0C

#8X1” Phillip Round Head

—

Product:
Aluminum
Van Guard II
Hurricane
Barrier

Sheet Metal Screws
Spaced at 10 1/4" OC

#8X1" Phillip Round Head

p—

| |——— Tek Screws — —— Sheet Metal Screws ——
I Spaced at 3" OC * I Spaced at 10 1/4" OC
I #8X1/2" Square Head i #8x1" Phillip Round Head
| — Tek Screv\f’s — | ——  Sheet Metal Screws
A Spaced at 3" OC I Spaced at 10 1/4" OC
| g 11| B . -
3 8 | I 8 _:_:_
o Fa X o} ) o 00000000
g o g ;P’)
o o (?)-846 1 o
o o] . X O 0 op
. e [l U8 '
00000000 ! a ’
| ‘_' > ol > (02) [o]o)
N 35660060 R g‘): I i
: #8X1/2" Square Head i #8x1" Phillip Round Head
—— Tek Screws — ——  Sheet Metal Screws
I Spaced at 3" OC I I Spaced at 10 1/4" OC
TYPICAL SECTION TYPICAL SECTION
#8x1/2" Square Head #8X1 Round Phillip Head
Tek screws spaced at 3" oc Sheet Metal Screws
spaced at 10 1/4" oc

Engineering: _
Eng@o Inr.

CA 8116

6971 W. Sunriss Bivd. 104
Plantation, Fl. 33313
Tel.: (954) 585-0304

AUG 1 9 2002

Engineer Seal
Pedro De Figueiredo
PE 52609

Date: 08/12/02
Scale: NA
Design by: PPMF

Revision:

Drawing Number

02—-839R1

Sheet

4 of 5




-0.981-}

E- MAINFRAME COVER
6063-T6

A- SUB FRAME
6063-T6
i 2125 L
| &
b Q 5
o 0.06 S ?
[ & | i
L——3.125————~

B- MAIN FRAME
6063-T6

B

3.125—
1.12

TYP
( Jl0.072

C- HORIZONTAL BRACE

6063-T6

G- MAIN FRAME

EMERGENGY LOCK RELEASE OPTIONS

TYPICAL BOLT AT 5 POINTS

MERGENGY RELEASE SPACED AT 24" OC

MERGENGY RELEASE

ey ’ —

PUSH QUICK RELEASE

LIFT QUICK RELEASE

TYPICAL ONE CENTER

TYPICAL BOLT AT 5 POINTS ACTIWATE RELEASE

SPACED AT 24" OC

e KANE 107 BITT KEY LOCK
__{ _\o ] WITH ACTUATING BALL BEARING
N AND (5) 1/2" DIAM. STEEL BOLT

LOCATED AT 24" OC

EMERGENGY RELEASE

149" for
#10-24 UNC
—2.374—— % 82
1
g — ”—B
o

| 1 [

o] 9.3

L—~1——~———+—J \{3) .21 Bx.328"‘\
slots

L7

DOWN QUICK RELEASE

(7]

0.085

—0.96—1 -0.79-’

6063-T6 SECONDARY CORNER KEY 0.085
6063-T6
TYPICAL HINGE

TvP 13 GA SS WITH 1/4* DIAM SS PIN

0.25
0 <£oooo,o§ fO- —1.188~

000000 ~
ooooooooooooooo L@
20, ,, ©00000C0 £ = Approved as complyiag with the
87 0000000 : Florida Coie
00000000, e Date 0
0000000 > NOAW
Q0000000 dg‘\‘? Miami Ds Control
S} WQE%ZQaéme

D~ 14GA <0785
GALVANNEALED PERFORATED
STEEL

H- HORIZONTAL BRACE
CORNER KEY
6063-T6

I- SCRIBE ANGLE
6063-T6

Manufacturer:

Kane
Screens

515 N. FRALEY STREET
KANE, PA 16735

Tel.: (B14) 837-6464
Fax.: (814) 837-6230

Produect:
Aluminum
Van Guard II
Hurricane
Barrier

Englineering: _
Eng@o Inr.

CA 8116

6971 W. Sunrise Blvd. 104
Plantation, Fl. 33313

Tel.: (954) 585-0304

AUG 19 2002

Enginesr Seal
Pedro De Figueiredo
PE 52609

Date: 08/12/02
Scale: NA
Design by: PPMF

Revision:

Drawing Number

02-839R1
Sheet
5 of 5




